NO. HL-CN-S06/2023

B [ &

SE

B (NG)6 E 40
[EFZE 315 bar
MEZE 600L/min

B=

TheeiifA. BIEE
BSHA

RASH

fed: i

EXERINE SERRT
IRIERINZ S ERR T

02
02
03
03
04
05

01/06

1.1

R

- SERZEEIR]
-ERRE. RARE
- SEFREN

ERSS

P1 P2



02/06 {BILRE | RETH i | SE

ThEERER. FIEE

1 2 3 4\ 5
(2N
R N %7 c s
P1 P2 3o
> i > e

K 5 WLLEE
N\ \\

S BB mENFRRENRRER— SRR, A —THER#LE.

LHARM PLESEN, HReREE (3) MEMENERALS 2) A%, MMEPL. P2 R,
LHRM P2 | PLIRENEY, SRS (2) A%, BREXH.

WFLEHENREE, REMENRIIRCETZEIENFRTLATRAME,

RIS i5EA
T
s
st LT ¢ ] ]+
‘ | BEERXFHE
Sl SRS
FARIE = THERKES
pitES B Rz v o= SRR
=6

3 HEIRE
FATIE = THIRE
A U 2= DHIEE

15 =15 -
20 =20 =20 0= BERRIIS
25 =25 -L2X= 1R L20 ~ L29 RF
3 | =30 — (L20 129 FHIRBAEERTRIFFE )
40 =40 0= T (40 BEFLLT)
EiEE =A 1= FRBEH 0.5bar
RCERE =P 2 = FRES 1.5bar
3 = HEEH  3bar
5= HBEH  S5bar

0004



g | SE

RS

WETH | BiBE 03/06

R 6 8 10 15 20 25 30 40
RARE L/min 15 30 40 120 200 300 400 600
e LIEED bar 315

HEES bar 0.5;1.5;3;5

IENR Wi BAERRE

THENBRESEE °C -30 £ +80

HESEE mm?/s 2.8 500

THRSRE HRRE S RERIE NAS1638 9 £&F1 1SO4406 20/18/15 4k

HERERRLE

£ = (bar)—
o = N Wk oo~

£ = (bar)—>
. \l—‘N l‘w o

o RN WU

£ = (bar)—
o N WMo

£ % (bar)—
o HFN W AT N

(7EfEF HLP46, 94, =40°C +5°CRFITE )
BEZ6

6 8 10 12 14 16 18
FE (L/min)—

B 10

ol

[

2 ——1>0

10 20 30 40 50 60
FE (L/min) >

BE 20

5 — |

1

3

)

7
——
50 100 150 200 250

FE (L/min) >

&% 30

5 —T

M

—

50 150 250 350 450
FE (L/min) >

0005

£ £ (bar)—
o = Nw AU~

£ £ (bar)—

O = NWHAOUON

£ £ (bar)—
O HNW MO

£ £ (bar)—
©O RNWhUO

EZ8
5
3
0
%—/
4 8 12 16 20 24 28 32 36
#E (L/min)—
&F 15
5
/3 /
0
1
20 40 60 80 100 120 140 150
e (L/min)—
i&E 25
c
3
2
2 0
1 —
50 100 150 200 250 300 350
E (L/min) >
iB1% 40
1
100 200 300 400 500 600

E (L/min) >



04/06 fBILRE | &ETH B | SE
EXERINESERRST
D1 D1
; \ \ 7? i\ i
LD il [\ I~
5 1 -
= =
Tl T1
L1 A/F
prEEd 6 8 10 15 20 25 30 40
BE | G 1/4 G 3/8 G 12 G 3/4 G1 Gl 1/4 | G1 1/2 G2
D1
A%l | M14X1.5 | M18X1.5 | M22X1.5 | M27X2 | M33X2 | M42X2 | M48x2 | M60X2
H1 22 28 34.5 415 53 69 75 92
L1 58 58 72 85 98 120 132 165
T1 12 12 14 16 18 20 22 28
A/F 19 24 30 36 46 60 65 80
=8 (kg) 0.1 0.2 0.3 0.5 1 2 2.5 4.4

0006



BmEiE | SE BETCH | {BILRE 05/06
R EZIMNE SEER T
e==
NEEIZEN, BABIMITEE, BS:
= == &2 10:
éjﬁg 1 :
G460/01A (G3/8) G460/02(M18X 1.5)
S G461/01A (G1/2) G461/02(M22X 1.5)
¥
L5 L4 i@1% 20:
G412/01(G3/4) G412/02(M27X2)
) G413/01(G1) G413/02(M33x2)
iEE 30
o 2 EL G414/01(G11/4) G414/02(M42X2)
@—@ G415/01(G11/2) G415/02(M48 X 2)
EEIELRET
X @12 10: 4-M10X40 GB/T 70.1-10.9
L3 L2 J@1% 20: 4-M10X50 GB/T70.1-10.9
L1 12 30: 6-M10X60 GB/T 70.1-10.9
[/710.01/100]
o 048:
WRERBHER
L6
2
W% Bl |B2|Ll|L2|L3|L4|L5|L6|L7T|H|DL|T OE |EE (Kg
10 | 85 |66.7| 78 [42.9| 18 |28.6| 7.2 | - |31.8| 71 |®13| 23 | 17.12X2.62 2
20 [ 102 | 79.4| 101 | 60.3| 23 [38.1|11.1| - |44.5|108 | ®22| 24 | 28.17X3.53 43
30 | 120 | 96.8| 128 | 84.2 | 28 |50.8 |16.7|42.1|62.7| 110 | ®30| 25 | 34.52X3.53 7.7

0007



06/06 1BILRE | RETH

‘ FE EE
+86 4001018889 | +01 6309953674
e B
+491723683463 | +81036809 1696 B

0008

i | SE

© REBILREAFRN, LWERREMED RIS UE
A XERR. RiE. EFRERBFHANHTEE. B
Fra—BERHRARCHD, FXEEHPESTH
BETUNRHRFGREAYE, WTFRLm~ENER
FREHTEHER, BEILRERKBRT,



